M011: Negative Exponents

Answers: 1. D, 2. A, 3. B

1)  The expression 
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is equivalent to:
	A.
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	C.
	3
	
	D.
	9


Source: University of the State of New York, Regents High School Examination: Mathematics A, August 2007
http://nysl.nysed.gov/uhtbin/cgisirsi/ANlu4yoAUd/NYSL/107870035/523/79311
2) Which expression is equivalent to 
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	A.
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	C.
	- 4x 
	
	D.
	0


Source: University of the State of New York, Regents High School Examination: Mathematics A, January 2005
http://nysl.nysed.gov/uhtbin/cgisirsi/vCFLlzmM4o/NYSL/107870035/523/55516
3) What is the value of 
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	A.
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	B.
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	C.
	-6
	
	D.
	-8


Source: University of the State of New York, Regents High School Examination: Mathematics A, August 2005
http://nysl.nysed.gov/uhtbin/cgisirsi/WIzPtPGnu5/NYSL/107870035/523/67903
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